## **NOTICE OF AWARD**

January 15, 2025

## **DAVEL TRADING**

424 Tabayog St., Brgy. Malamig, Mandaluyong City

Contact No.: 0917-5764955 Email: alicecabahug@yahoo.com

## Sir / Madam:

Please be advised that based on the results of the PUBLIC BIDDING conducted by the National Center for Mental Health for the SUPPLY AND DELIVERY OF ACTIVITY THERAPY SECTION (ATS) CY 2025 (SUB-LOT) (EARLY PROCUREMENT ACTIVITY), the following items are hereby awarded to your company:

ITEM CODE	QTY	UNIT	ITEM/SPECIFICATIONS	UNIT PRICE	TOTAL PRICE
SELF-CA	RE SUPI	PLIES			
	1,500	pcs	Deodorant, sachet, 3 ml scents for women: shower clean; scents for men: ice cool expiration date best before 2027, 750 pcs-women; 750-men Country of origin: Philippines	7.45	11,175.00
	250	pcs	Cologne, 500 ml, bottled spray (100 citrus scent and 150 floral scent) Country of origin: Philippines	160.00	40,000.00
	175	pcs	Baby powder: 500 g, hypoallergenic, unscented, expiration date: 2027 Country of origin: Philippines	340.00	59,500.00
	50	pcs	Lipstick, 3.6g, red, matte, expiry date: 2026 Country of origin: Philippines	210.00	10,500.00
ATS25-02	4	pcs	Makeup kit: 2 shadow, blush on in 1 eye expiry date: 2026 Country of origin: Philippines	480.00	1,920.00
	1,000	pcs	Face towel, any color, 100% natural cotton, 9x9.5" Country of origin: Philippines	10.00	10,000.00
	1,000	pcs	Cologne, baby scent, 25ml manufactured date 2024 Country of origin: Philippines	25.00	25,000.00
	1,000	pcs	Baby powder, 25g, hypo allergenic original scent manufactured date 2024 Country of origin: Philippines	16.50	16,500.00
	1,000	packs	Cotton Buds, 200pcs/pack, manufactured date 2024 Country of origin: Philippines	18.50	18,500.00
			SUB TOTAL		₱193,095.00

"There is no Health without Mental Health"

9 De Pebrero St., Brgy. Mauway, Mandaluyong City









OTHER S	SUPPLIE	S			
	10	sets	40" Full HD Smart TV, 1,920 x 1,080 resolution, with HDMI, AV, USB connectivity, warranty: 1-2 years Country of origin: Philippines	13,649.00	136,490.00
	12	sets	Cabinet, durable hard plastic, 5 drawers, 36"w x 19.25"d x 66.56"h Country of origin: Philippines	2,149.00	25,788.00
	4	pes	Cork board, with rectangular frame, 60x90cm Country of origin: Philippines	1,249.00	4,996.00
ATS25-03	4	sets	Emergency Lights, wall type, 2x3W high power SMT LED, 12V 9.0Ah sealed lead acid Country of origin: Philippines	2,150.00	8,600.00
	1	pes	White board, 4ft x 8ft with aluminum frame Country of origin: Philippines	4,255.00	4,255.00
	1	рс	Mobile Whiteboard 2 Side Filp 36×48-inch, Aluminum alloy frame, Double-sided, magnetic, 360° rotation. Country of origin: Philippines	8,450.00	8,450.00
	20	pcs	Storage box, plastic, 55L, 46.8cm x 33.8cm x 32.5cm (LxWxH) Country of origin: Philippines	574.00	11,480.00
			SUB TOTAL		<b>P2</b> 00,059.00
		•	Glue Gun, small, use 11.5mm glue stick, long	137.00	6,850.00
	50	pcs	White glue, 240 ml, plastic container	137.00	6.850.00
	50	pes	nozzle, 15 watts, with on and off switch.	125.00	6,250.00
	500	pes	Hot melt glue stick- small size: 18cm; thick: 0.7cm	4.90	2,450.00
	100	pcs	Swivel hook (gold-50, silver-50)	49.00	4,900.00
	80	pes	Poster paint - 12 colors, 30cc	475.00	38,000.00
	30	box	Classic Crayon- 24 colors per box	155.00	4,650.00
ATS25-	10	pes	Paracord (10 ft/ 4mm diameter/ black)	326.00	3,260.00
04	10	pes	Paracord (10 ft/ 4mm diameter/ black camouflage)	326.00	3,260.00
	5	pcs	Paracord (10 ft/ 4mm diameter/ white grey)	326.00	1,630.00
	5	pcs	Paracord (10 ft/ 4mm diameter/ Black and Blue)	326.00	1,630.00
	10	pcs	Paracord (10 ft/ 4mm diameter/ aqua blue)	326.00	3,260.00
	10	pes	Paracord (10 ft/ 4mm diameter/ multicolor)	326.00	3,260.00
	200	pes	Keychain Hooks with Key Rings (Silver/Black) metal; stainless	10.90	2,180.00
	30	pcs	Glue gun, big, 110V-22V 100watts, color black, heavy duty with on/off switch	325.00	9,750.00

	300	pcs	Hot melt glue stick, All-purpose glue stick, large, 15gsm	15.00	4,500.00
	20	packs	Glitters: 250g/pack (4-red, 4-gold, 3-silver, 3-green, 3-blue, 3-pink)	148.00	2,960.00
	25	reams	Construction paper, 9x 12 inch, 250pcs per ream	435.00	10,875.0
	25	sets	Oil pastel, 24 color per set	215.00	5,375.0
	200	pcs	Gift wrapper, assorted design 70cm x 50cm 80gsm	10.50	2,100.0
	200	pcs	Gift wrapper, Christmas design 70cm x 50cm 80gsm	19.25	3,850.0
	50	yard	Charol - plastic (for banderitas /parol); Blue	54.00	2,700.0
	50	yard	Charol - plastic (for banderitas /parol); White	54.00	2,700.0
	50	yard	Charol - plastic (for banderitas /parol); Red	54.00	2,700.0
	50	yard	Charol - plastic (for banderitas /parol); green	54.00	2,700.0
				<b>P</b> 131,790.00	
			Induction cooker, LED display, 5 cooking		
MEAL P	PLANNING 3		Induction cooker, LED display, 5 cooking functions: soup, braise, boil, fry and hotpot, overheat auto cut-off, high quality ceramic plate,	PLIES	
		pcs	manual cooking button, adjustable power level, timer control rated voltage: 230V-60hz rated power input:1900 watts	2,950.00	8,850.00
ATS25- 06	3	sets	7 pc. Induction cookware set heavy gauge aluminum, 3 layer non-sticking coating, heatresistant handles and knob, tempered glass lid, scratch resistant, easy to clean, INDUCTION bottom, suitable for all types of stoves, stainless steel reinforced bottom (20 cm casserole L33xW21xH14.5cm/0.98kg), (20cm glass lid) (16cm sauce pan L32.5xW17xH13.5cm/0.64kg) (16 cm glass lid) (20cm Fry Pan L36.5xW20.5xH6cm/0.36kg) (1 pc nylon turner 0.04kg) (1 pc nylon spoon (0.04kg)	2,200.00	6,600.00
	6	pes	Brownie pans, square 8x8 inches, non-stick	210.00	1,260.00
	6	pes	Easy layer sheet pan 9x13x0.75-inch high	420.00	2,520.00
	4	pes	Wax melting pot/pouring pot with handle, aluminum diameter: 5 inches, volume capacity: 1.2L	390.00	1,560.00
			D' 1 1' 1 1 1' 1 C(1 22 )		
	1	ре	Dish cabinet, plastic, waterproof, 61cmx 33cmx 61cm	2,700.00	2,700.00

	8	pes	inch=18.5cm, 10 inch=25cm wt=1.2kg heavy- duty pastel aluminum alloy cake turntable sturdy and smooth rotating non slip silicone, white	750.00	1,500.00
	3	kg	Size in inches 9x13x0.16, carbon steel  Chocolate powder, high quality, 1kg per pack, well packed on thick plastic.	158.00	1,264.0
	10	kg	Expiration date DEC 2027  White sugar, pure, refined,1kg, well packed on	504.00	1,512.0
	4	pcs	thick plastic Expiration: date: DEC 2027  Parchment/baking paper, white, 50m x 300mm attached on dispenser box with blade	270.00	1,320.0
	1	set	Food processor, stainless steel chopping blades, 2 speed settings, safety lock, suction footing, 280w 1 year warranty on electrical parts, 2 disc, 220v, capacity 1660ml	5,250.00	5,250.0
	5	sets	Refrigerator 7.2 cu ft 2 door type smart inverter no frost. Weight:40kg dimensions: 58.5 x 55.5 x 140cm color: dark graphite with smart inverter compressor. Compressor warranty: 10 years, rated voltage: 230v/60 hz, freezer type: top freezer, refrigerant R600a capacity: 205L	15,875.00	79,375.00
		-1	SUB TOTAL		₱116,285.00
SEWING	ACTIVI	TY SUPP	LIES		
SEWING	ACTIVI 20	TY SUPP	Canadian Cotton, plain, beige	105.00	2,100.00
SEWING		BUILE		105.00	
SEWING	20	yard	Canadian Cotton, plain, beige		2,100.00
SEWING	20	yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black	105.00	2,100.00 2,100.00
SEWING	20 20 20	yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white	105.00	2,100.00 2,100.00 2,100.00
SEWING	20 20 20 20	yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray	105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00
ATS25-	20 20 20 20 20	yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown	105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00
	20 20 20 20 20 20 20	yard yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown  Canadian Cotton, plain, pink	105.00 105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00 2,100.00
ATS25-	20 20 20 20 20 20 20 20	yard yard yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown  Canadian Cotton, plain, pink  Canadian Cotton, plain, blue	105.00 105.00 105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00
ATS25-	20 20 20 20 20 20 20 20 20	yard yard yard yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown  Canadian Cotton, plain, pink  Canadian Cotton, plain, blue  Canadian Cotton, plain, green	105.00 105.00 105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00
ATS25-	20 20 20 20 20 20 20 20 20 20	yard yard yard yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown  Canadian Cotton, plain, pink  Canadian Cotton, plain, blue  Canadian Cotton, plain, green  Canadian Cotton, plain, green  Canadian Cotton, printed, assorted	105.00 105.00 105.00 105.00 105.00 105.00 105.00	2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,600.00
ATS25-	20 20 20 20 20 20 20 20 20 20	yard yard yard yard yard yard yard yard	Canadian Cotton, plain, beige  Canadian Cotton, plain, black  Canadian Cotton, plain, white  Canadian Cotton, plain, gray  Canadian Cotton, plain, brown  Canadian Cotton, plain, pink  Canadian Cotton, plain, blue  Canadian Cotton, plain, blue  Canadian Cotton, plain, green  Canadian Cotton, printed, assorted  zipper, 1 1/2 inches, white, 25 yards per pack  textile chalk/tailors chalk/dixon chalk, orange,	105.00 105.00 105.00 105.00 105.00 105.00 105.00 130.00	2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 2,100.00 1,625.00

Page 4 of 6

	10	yard	white canvas fabric	330.00	3,300.00
	10	yard	printed canvas fabric	330.00	3,300.00
	40	yard	canvas woven tape webbing DIY bag handle black 20, white 20	175.00	7,000.00
			SUB TOTAL		₱43,525.00
PEANUT	BUTTE	R MAKIN	G SUPPLIES		
	1	рс	Grain Grinding Machine Voltage 220-240 Watts; Rotary Speed 1500r/min; Capacity 10-20kg	10,500.00	10,500.00
ATS25-	100	pcs	Plastic Jars; medium size 250ml	16.00	1,600.00
08	10	kilos	Roasted Peanuts unsalted medium-roasted in vacuum sealed pouches/resealable bags	175.00	1,750.00
	1	рс	Electric Mason Jar Vacuum Sealer; Dimension 3.74 x 3.74 x 4.17 in.	2,000.00	2,000.00
			SUB TOTAL		₱15,850.00
PERSON	AL GRO	OMING S	UPPLIES	775-7 81	
	10	sets	Hair Clipper: professional, corded, supertaper V5000 vibrator motor with reblade guard, flaptop comb, oil cleaning brush plastic attachment comb, 3mm, 6mm, 10mm, 13mm, 19mm, 25mm	7,350.00	73,500.00
	60	pes	Good morning towel, 30"X12"	29.00	1,740.00
ATS25-	14	pcs	Shoulder bag, nylon, black, 12"X8"X5"	445.00	6,230.00
09	200	boxes	Blade, stainless, super sharp, high quality, box of 10	34.00	6,800.00
	7	boxes	Bar soap, germ protection, 175g, pack of 3	255.00	1,785.00
	40	pcs	Barber's cape, black or white	160.00	6,400.00
	14	pcs	Barber's brush, wooden handle	133.00	1,862.00
		- f-1	SUBTOTAL		<b>P</b> 98,317.00
			TOTAL	AMOUNT	₱798,921.00

You are hereby required to submit the following within ten (10) calendar days:

• Notarized Contract Agreement Form (Legal Size) for the PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF ACTIVITY THERAPY SECTION (ATS) CY 2025 (SUBLOT) (EARLY PROCUREMENT ACTIVITY)

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II; and

Page 5 of 6

NOTICE OF AWARD – DAVEL TRADING
PUBLIC BIDDING FOR THE SUPPLY AND DELIVERY OF ACTIVITY THERAPY SECTION (ATS) CY 2025 (SUB-LOT) (EARLY PROCUREMENT ACTIVITY) LAHT

• Performance Security in any forms and amount stipulated below:

A.	Cash or Cashier's / Manager's Check issued by a Universal of Commercial Bank.	
B.	Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, That it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Five Percent (5%) of the Total Contract Price
C.	Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Thirty Percent (30%) of the Total Contract Price

NOTE: Failure to provide any of the aforementioned requirements within ten (10) calendar days shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

4) 1 1 1 N

NOEL V. REYES, MD, FPPA, MMHoA  $_{\{\!\!\!\ N\ \!\!\!\}}$ 

Medical Center Chief II

Authorized Representative Name & Signature)

Date and Time